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V is married to W. R is the only sister of W. A is the mother of R. A has three children. G
is the niece of R and P. V has no sibling. R is unmarried. Then how is P related to V?
Six boys J, K, L, M, N, O are there in a classroom each of them is of different heights.
Who among the following is the tallest?

Statements: X2G=H; G>J2L;J=2K<Y Conclusions . X>LIl.K<G

If the code for the words ‘they forward "is coded as ‘U4 G7 T5’ in the coded
language then what will be the missing word?

Find the difference between total number of pens sold on Monday and Tuesday together
to total number of pens sold on Thursday and Friday together?

Out of total pens sold on Thursday, 20% are blue ink pen. Out of remaining 25% are red
ink pen and remaining are black in pen. Find total number of blue and black ink pen sold
on Thursday?

What number is wrong according to given number series pattern: — 1, 3, 9, 31, 128, 651,
3913.

In a box there are 6 blue ball, X red balls & 10 green balls. Probability of choosing one
red ball from the given box is?

What is the probability of forming word from the letters of word “IMPEACH” such that all
vowels come together?

What is the code for ‘Elegant’ in the given code language?



